— FLR M A Bl
T R Y= Sf(x)1Ele,0] iEE, 17 (2,0)
SRS
1) HE@H)N L (x)>0,NKE y= f(x)1
[@, 5] I B 38 s
(2) #HE(a,b) NS (x) <0, % y=f(X)FE
[2,8] I 550
Uk Vx,,x, €(@,0), H x, < x,, |3 F+y K e A
S(%)- f(x)=L(0)x,—x) (X <S<.x),

b




s X —x >0,
AR (ﬂ,b)w S(x)> 0,01 £(5)>0,
- S(%)> f(x).
S y= S(X)FE (@, 6] RGN
#1E (a0 N, ()< 0, L(5)<0,
L () < Sf(x).
Sy = (0O, b] R,




B [X 8] SR VA

] &2 e Gl G X8 BR P B S35k N 558 40 (X T6] BR 2R
) ERL T 2.

TE M 2 5 PREE H e SO 1 X 18] A A2 B R Y,
)K“Jl? [E) TR A BR ) B X[

FE: BRETER SRS A, WrT st 2 i
X [A] B 73 5 .

TiE: AR (X)) = 05IR & S (x) A EER A
KX 53 BRI EL () I E SCIX 8], 28 5 A W X 8] P =
LGSR

\l\




OB R EH p=e - x- 1R
B o Y= —-1. X D:(—0,+m).
V<0,

£ (—0,0) 4,

. BRECERIE D

HAEIX—

7£ (0,+0) N,
. BREUCR AN,

T KB HRIR R

X 8] A

V>0,

3 BT 5 R A — 4~ XA

% o] PR, S
EES]

€, TMAREH—RAL
BRI




45l 2 ﬁ%@ﬁy/fm%ﬁfﬁ
2 - D (—00,+00). y'— 3y (x#0),
L =0, SHEIAHE. Y —0o<x<0F, <0,

1R (—0,0] b ERIARD;

2 0< x<+o0 B, V>0,
. 1 [0,4+00) - EAEIEN;

B X a2 (—0,0], [0,+c0)

R XEINANR A SECON TR X 8] [ B
B, p=2°, V o =0, {HE (—oo,+00) b B I fn,




X

B3 HERE L ()=2x -9x" +12x-3 I H1if

8],
fie " Di(—00,+0).

L(x)=6x"-18x +12x =6(x—1)(x-2),
BERE fi(x0)=0 B x=Lx,=2.

M —wo< x<1B, f(x)>0,

s () (—oo,1] b B

1< x<2 B, fi(x)<0,

AU}

ETie



s AT [1,2] g

Y 2<x<+olif, F(x)>0,

S () TE [2400) b2 A,
FIF XAy (—o,1], [1,2], [2,+0).

R



+ BRERE R 5 KEE

%X&@%{f(x)ﬁ 8] (@, )NFE X, Xe(a,d)
A —~ K

NERFA

5

P T

o M Xy B —NRBI, BTz AR A B
R x, BT Bx i ()< f(R)BRon, 5
RS ()RR LX) —MRKAE

EoE R X HI—ARBE, X TR K

MR x, BRT RX Fh L(0)> ()87, B
RS (%) 2 m % S — M R/IME

BR BRI AR KAEL-5 iR IMELGERR VAR, 13 BR £
SRR B RAR N IRAE .




FEH (LEFRM) B S()ESRLTT R, BAE X4t
EERAE, T () =0.

BN FFRECRERREITHTRE £(x) = 015E1R)
IR () HISE

R FRE (X)) BIRE R D ERE RE AER
B A —E R RE A

Blan, p=x°, y|.,=0, HEx=0 FREREA.

Einy



EH2 (B—R0FMH) WRE () TEE X A
ARIBNELE I BT F (RE S () A] LUATRFE),
(DWRAE S ELBA fF(x)> 05 1E 5 x5HE
SRR S (x) < 0, ] fF(x)7E X A ER 154 K AE
Q)W RAE B LA f(x) <05 1E 5 A
AR () > 0, T (X)) 1E X KBS /I ME ;
GV RLE H x5 AN, F(D)RZES, T f(x)
£ X, AEERAE.

Einy



A

Uk EIARAE B e SO e B ) 26 BV T HER 45 2R,
L EPTIR, FIRSREBMRERI P RS SAH

(D) K S (%);
(2) REE L, KAE S (20) DAFAEHT R X5

) & f(X)ExX LA FIER S, BEWRE N ;
4) >R H BRI BURE.

Einy



e REEE Ax)=x -3x —9x+5 FIHAE.
i L(D)=3x-6x-9=3(x+1)(x-3)
2L (x)=0, B S x =-1,x, =3.

\\\\\

FIRTHRUT:
X (_009_1) =1 (_193) 3 (39+°°)
S )+ 0 E 0 +

Jiy) WFoVE | Y [ RAVE | 2

FrCA, #kK1E f(-1) =10, tF/ME f(3)=-22.

ETie




C 5 SREB () = (x—4) (x+1)? HIHRIE.
(1) BRELS(X)E (—o0,+o0) NIELE, R x=-1
shsbab Rl 2, H

_S(x-1),
S D= et
Q)4 S (X¥)=0, B Axr=1; x=—1 R S(X) 1

ZNGIESF=E
3) #FFIHLW T

Einy



X

(—o0,—1)

-1

(-1,1)

1

(1,+00)

S (%)

+

NFAE

0

_|_

S(x)

e

SO

H

VY

N

H

.

(4) toK

A S(-1)=0, /v

B4 A1) =-3Y4.

Einy




U6 SR S )= x5 P [ BRI
AR A

# RSB L (D=1-x"",

2 y=18 £(0)=0, i x=08 L(OFEE,
Hilk, B T BT T A UL, FFe T

X (_0090) 0 (091) 1 (19+°°)

S(x) + | RFE - 0 +

ACE A | FeNE T N AN E

/

1
2

Einy




EERAT e B A(x) £ X [H]
(—00,0), (1,+00) HLIFHE N, 7E[X
8] (0,1) B D, R x=0 — _

B RKAE, ER x=10F 1K -

M S =-1, w.

Ein



O BEI(E R KIS TEX B S,
H/(x%)=0, f'(x)=0, 1

(1)24/"(x,) < OFF, %L () 7E X BF AL
@)L/7(x) > OFF, FHL S(O)TE XA TUEHZIME.

iE (1) B (x) = Al}g})/'(x +AA’2 /()

WS (+Ax)- f(x%)5 AR5,

A< O, B L (x,+Ax)> f(x,)=0,

HAx> 05, B L(x,+Ax)< fi(x,)=0,

FrUA, BREL S(X)1E X, AL BRI KAE.
H T E(2).

i)
‘rr"n‘

Einy



CHIT RE

LR (X)) = X + 3" — 24x - 20 I /E.

W L) =32 +6x—24=3(x+4)(x-2),

2 f(x)=0, {55
Xf’(x)=6x+69

=—4,x, =2,
- f(—4)=-18<0,

Btk KE f(—4)=60, f'(2)=18>0,

wtk/ME f(2) =—48.
FEE L "(x)=0 B, f(X)1E R XS — 2Bk
— o ki

\

B, VIHE
2. REWIAFH,

5

17 A .

H] HE A2 BRI A HIIRAE L.

Einy



B8 RKE f(x)=(¥ -1) +1HIHRAA.

i

S (x)=

=0,x, =1.
S"(x)=6(x" —1)(5x" - 1).

A

Ea SN
W EE

6.1( X

A S(x)=6>0, & S(x) 1
ER0)=0. H [ (-D=/,(1)=0,
I3TCVEAA. B 5B TR f(X)IE

_1)2 =09 ?%I:"):li xl - =

x, = -1 x, =1VEGLERFF5:

2 xHY
2 x HY

— 110
— 1A

BT HIA

AT F)1

HAT, /(x)<0;
i, S(X)<0;

F I

E x=0 LbEE K/

VAR

Einy



K () BRFSRA U, 7
W ()T =185k
H. FHH, f(X)E x=-14
WA R . . \Vas

h)
N

A

Eim
p 2 s



—
—

—

]

PR

5 /ME RV

E@%ﬁf(x)?’ [a,6] BIESE, BRAH| RAMEAL T =,
FHEZEHEHRNFEONZERN S, W f(xX)E]e, ]
ERIHERES &/IMEFE.
W1 R AR R 5
2. >R [X [8] ¥ 5~ )5&77@ wH R EUE,
PR YNUY @KAﬁ@K/\TﬁEEJﬁjﬁ’E Vi
/INERAS B A2 B /MEL
EE: MRXENRAE —1HRE, WX RER 2
B (N E B /IME).

Einy



o9 R p=2x +3x -12x+14 Hj7E [-34] |
B NE S B /ME.
s f(x)=6(x+2)(x-1), @EHE L(x¥)=0,

B ox=-2,x=1.

i SD=2%  f-2)=34
=T f)=142;

B Bl S(4) =142, BUME S =T

N

Einy



